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So what all these mean?
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-#��,�$���&'�� CSP ��$
���������%%�
� search problem

-Initial state "������"�##��)�����!��!�$��$�$�#�%���������)�*�,�*�
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- search �6 �
6�"��-�#����$���)����1�!�!�$)�*����
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-Arc consistency #+�"�����)��!��,����0��1�,���������
��+��
%!�$ (
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� A* search) 
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- �� �
�"�#�&'����*
(�%���$�� undirected graph �����*� arc consistency constraint �$
�6�"��-�,
�)�2)�� 
�5��"�# V1 to V2 and V2 to V1
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-�����"�# arc ������� V1-V2 ���6%���
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-�����*� V1 and V2 are consistent
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- ��#�-���*���"����&'�����0$� V1 ��1�,������ V3 "���1�,������!��!�$  ������#+�"�� ,������

#"�# ������
� V1
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� constraint checking �5����*)+���$�������#,�����*��� constraint propagation
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- ��#�-���*���"����&'�����0$� V1 ��1�,���� V2 "���1�,����!��!�$  ������#+�"�� ,����

#"�# ������
� V1
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- !�������������$������� 
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-���6%��� constraint propagation �6���
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-���,����0�5$ search algorithms ���)�������!�#
!�$

-���0$���1� search )������� cost ���#�����$
�����$
�6�"��-��� �
��
� preference �����%)��*���,��"��� CSP ���)����!�  
�����*�����5$ DFS �� 
 BFS

-���)���5$��#)��,/�� 
 DFS �6���0$���1� BFS ��*�"�)+���$�$
�6�"��-�"+���� branch ��#

- Note ����+���%#����$���#�%������!��������,+���'��#�����+��
%��$#�% CSP
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- #��,�$�� search tree ,+����% CSP problem ��*� ��������"�# root node ��$� level 1 ��1� #����$���#�%���������
)�� 1 ��� level 2 ��1�#����$���#�%���������)��,
�  ��1�
������*!��� �
��
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-����"�#��*����6�"��-������� tree �$
�#��% (backtrack) ���0$� path !��!��
0�#�$
������ �
�!�)��#+�����#$#+�"��

#

-�����*�0$������$��� V2=G, 	��� consistent #�%����
� V1. "�#��*������$���
V3=R. 

-�� �
�"�#����
� V1 #�% V3 !��0�#�$
������ �
�!� (� 
��,����)�*����  �����*�!�� 
consistent) ���"��#+�"�� path ��*  ��$�6�"��-����
 ����
� V3
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- 0$���$� DFS �� tree ��*�����"�#	$��!����  ��������"�#��$��� R #�% V1 ���!�)�� V2 

��$���$��� R #�% V2 �$��  	���!�� consistent �����*� path ��* fail ����$
�#��%!�
6�"��-����������,/�)���6�����$���!�
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- ��� V3=G is inconsistent with V2=G, �����*�����$
�#��%. ���!�������

 ���)���$
�6�"��-�,+����% V3 ��� V2 �����*�����$
�#��%!�)�� level �
� V1
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- ,/�)$�����!�$ 2 paths )����1��+��
%��$#�%�&'����*!�$



-���,����0�5$ backtracking search ����������!���5$ constraint propagation #
!�$

-�������#��,
�,�����*��#"��5$�$��#��  �6���"�5�����"+���� branching factor �� search tree
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-����&'��
���)���������$
�)+�#�� propagate !�!#����!��  �$
�)+�)/#� arc ����� 
!��

- 	������)���!����!��"+���1� ���,����0)+�#�� propagate ��� constraints !�)������)��
������#�%������������#
�6���6
 
(immediate neighbors 	���� 
�� arc ��
0��#��������) 

-��(�#����*��1�#�� check ��� arc consistency ������$�#�
�)��"��,� ������$�!��� tree �����*�"������#��� forward 

checking 	�������"�# backtracking )��6�"��-����)��8�������$�  "������#��� back-checking
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-���
���� ��$��� V1 = R ���"��$
� propagate constraint !�)�� V2 and V3

-�����*� V2 and V3 !��,����0��1�,����!�$

-�% R from domains of V2 and V3
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-��$��� V2 = G

- �����*� propagate constraint !�)�� V3 	���)+���$ V3 ��1�,������!��!�$  �����*� ������
� V3 "�!�������)��,����0�5$!�$
�#
��
!�
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- �����*� path ��* fail
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- ��$ 6�"��-��$
�#��%��*���  �����$� ���� initial domain values ��$#�%�����������
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-0$���$ V1 = G

-V2 and V3 cannot be G
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- Remove G from domains of V2 and V3
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-��$ V2 = R 

-������
� V3 "�!���������� 
��$�5$!�$
�#��
!�

-�����*� path ��* fail
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-0$� ��$ V1 = B "�!����8�#��)%#�% domain �
� V2 and V3
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- ��$ V2 = R �����*� V3 ��1�!�$��� G
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-0$���$ V2 ��1� R �����*� V3 ��1�!�$��� G
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-����)�����)+� forward checking !��"+���1��$
� check new assignments against 

previous assignments. �6������������)���������$����"�!�� consistent "�0�##+�"�����#��
propagation. 

- #���5$ BT ����#�% FC ����#��"�������##���#���5$ BT 
���������  �� �
�"�#���#��6�"��-���� 
assignment )��!�� consistent "�)+����*����������5$#�%)/#���  �)�)��"��$
�)+�#���5
�	*+�!�	*+��������
��,����
� tree

- �5�� ��#���5$ BT 
��������� #����$���#�% V3 )��!�� consistent #�%����
� V1  ��*�"�0�#6�"��-�
,+����%)/#�����
� V2   ���#���5$ ���)��!�� consistent ��*�"�0�#�%

#"�#������
� V3 ��)��)�"��!���$
�
��6�"��-�
�#,+����%���
 ����
� V2

-)��8��������!��!�$6�"��-��� �
��
��+���%�
�#����$��� �� 
#���� 
#������

-0$����6�"��-�,
�,�����*���"�,����05���)+���$#�����+��
%�
� CSP ��
���*�!�$

-#���� 
#������ (Variable)

-,+����% #����$�$�#�%������  ��$����� 
#������)������ �
�!���#)��,/�  ����� 
�� 
#������)���������������$
�)��,/�  

-	���"������ branching factor �
� tree

-#����$���#�%������

-��$�� 
#���)����8�#��)%#�%�������$��������$
�)��,/�

-	���"����
#�,�
�#����1� failure paths 

-���#��6�"��-��+���%�
�#����$���  "���8�#
��
�� �
����$
�#������+��
%�6����������� (	���� 
�����#)��6%) ���0$�����$
�#��
�+��
%)�*����  �+���%�
�#����$��� #
!����8�
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This example of the 4-color map-coloring problem illustrates a simple situation for 

variable and value ordering. Here, A is colored Green, B is colored Blue and C is 

colored Red. What country should we color next, D or E or F? 
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